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My	
  question	
  concerning	
  to	
  decay	
  chain

index|      PDG |  [parents] - [daughters]
：
24　|         6   |   [　　　  ] - [　　26　　] 
25　|        -6   |   [　　　  ] - [　　26　　] 
26　|        94  |   [24,　25] - [　27,　28　] 
27　|         6   |   [　26　]   - [　29,　30　] 
28　|        -6   |   [　26　]   - [　　46　　] 
29　|         6   |   [　27　]   - [　　33　　] 
：

Output	
  from	
  dumpevent	
  (partially	
  extracted)

login.cc:/home/ilc/yonamine/data/analysis/TTH1L6JetIsoPrecessor/
datatth_epol-­‐1.ppol+1_1/DST-­‐p106011_01-­‐003.slcio

example	
  data	
  file

event	
  number	
  :	
  49

(ttH	
  sample)

What	
  does	
  this	
  sequence	
  mean?
I	
  don’t	
  have	
  to	
  care	
  about	
  this?


